Isofoges are atoms of the same element
which have differe bers of neutrons,
and therefore different masses.

.et's look at the isotopes of Hydrogen...
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Isotopes of Carbon:

Relative abundances: 98.9% 1.1% negligible %

+ . Proton (atomic mdss = 1)
‘ Neutron (atomic miass =1)
— ©® Electron (atomic¥fass = 0)
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Isotopes of Helium:
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Almost All Of The Oxygen:Fact

Almest all of the Oxygen in the Eart's atmosphere has been produced by :wngu -
erganisms. Oxygen accounts fer 21% of our atmasphere, with Nitrogen mal \ngs aps 5 m.‘nar
and a mixture of other gases composing the remaining 1%. Oxygen only occur;

«constituent in the atmaspheres of other planets in our Solar System.

liquid and solid
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xygen are light blue in color?
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O, FACTS

*Less than 2ooyea:smsanhh
comprised of 40% Oxygen, although today we umq
* Every day we breathe 20,000 times

*Research has demonstrated that our vital il'g.‘o

decreases 5% with every decade of life, this

means less Oxygen

*Blood is the liquid carrier of Oxygen that fuels all systems,

stimulates chemical reactions and cleans itself of waste
and toxins

* By mass, Oxygen makes up 90% of the water molecule,
Wwater makes up 65% - 75% of the human body

*The brain which makes up 2% of our total mass, and
requires 20% of the body's Oxygen

An Oxygen Bar is a kiosk that offers non-medical Oxygen
Mixed with various aromas, The air we normally breathe
contains 21% Oxygen, the remainder is Nitrogen,

2and other trace gasses. The Oxygen in Oxygen Bars Is 90%
Oxygen allowing the consumer 1o breathe 4 o 5 times the
normal amount of Oxygen.

email: oxygen@o2bar.com.au web:

Shop FFO8, Level 2, Harbourside Shopping Centre, Darfing Harbour (Opposi

! PRICE LIST

$14 for 16 mins
(includes internet access)
$15 for 20 mins
(includes internet access)
$1 for a bottle of
mineral water

| $1.50 for 2 bottles of

mineral water

e Hurmcanes)

au _§ find us on facebook
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Atomic MassSr-A ity
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Try:

1 . Argon has three naturally occurring isotopes: argon-36, argon-38, and argon-40.
Based on Argon’s reported atomic mass, which isotope do you think is the most

abundant in nature? Explain.
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2. Uranium is used in nuclear reactors and is a rare element on earth. Uranium has

three common isotopes. If the abundance of U-234 is 0.01%, the abundance of
U-235 is 0.71%, and the abundance of U-238 is 99.28%, what is the average

atomic mass of uranium?
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3. Titanium has five common isotopes: Ti-46 (8.0%), Ti-47 (7.8%), Ti-48 (73.4%),
Ti-49 (5.5%), Ti-50 (5.3%). What is the average atomic mass of titanium?

Ti-46 - E9(4e)-363  Ti-To~ - 53es)- 2.5
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4. Rubidium is a soft, silvery-white metal that has two common isotopes, Rb-85 and
Rb-87. If the abundance of Rb-85 is 72.2% and the abundance of Rb-87 is
27.8%, what is the average atomic mass of rubidium?



5. Consider the following fictitious elements. They have been assigned the
symbol "X" and identified using atomic notation.
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a) Which z(a)re isotopeg of the same element?
S
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b) How many protons do these isotopes have?

L]

c) How many neutrons do these isotopes have?

32 and )

6. For each of the following isotopes indicate the number of

protons, neutrons and electrons that it has:

#protons | #neutrons | #electrons
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